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Name:_________________________
Homework Assignment #3: Variability         

1 [C].  In which distribution is the standard deviation zero?

A.
-3, 0, and 3

B.
-10, -5, and 0

C.
  0, 0, and 1

D.
  5, 5, and 5

WHY?___________________________________________________________

2.  For the set of data, 14, 8, 16, and 6, which constitute a population, compute the following:

A.[C]
(X = 

B. [C]

N = 

C [O].

(x =


D [O].
           ( (Xi - (x)2  =

E [O]. 
           ( (Xi - (x)2/N = 
F [O].
(x  =

G. [C]

Inclusive Range =

3.  Suppose we drew a sample from the previous population and selected the following observations: 14, 16, and 6. Compute the following:

A.[C]
(X = 

B.  [C]

n = 

C [O].

M = 




D [O].

( (Xi - M)2 =

E [O].

( (Xi - M)2/n-1 = 

F[O]. 

Sx =


G [C]. Provide an interpretation for a reader which explains the meaning of the value of Sx.

___________________________________________________________________________________________________________________________________________________________________________________________________

H [C].  Why do we use n-1 in the denominator when computing Sx?

___________________________________________________________________________________________________________________________________________________________________________________________________

4 [C].  Suzanne Trueblood doesn’t like to do a lot of calculations and she would like to use the following formula for data from a population to calculate (x, 

  ___________

(( (Xi - (x)/N

What’s wrong with this idea?

__________________________________________________________________________________________________________________________________

5 [C].  Without doing all of the calculations, in which sample is the Sx smaller?

Explain how you derived your answer.

Sample A: 55, 75, and 95

Sample B: 10, 35, and 60

________________________________________________________________________________________________________________________________

6 [C].  Peter collected data on the age of 50 workers in his factory.  He found that the mean age was 40 years old and the standard deviation was -10.  What does this tell you?

________________________________________________________________________________________________________________________________

7.  [C] Forty-nine gymnasts and 49 basketball players are given a test of flexibility.  For the gymnasts, the mean score on the flexibility test is 88 and the standard deviation is 6.  By comparison, for the basketball players, the mean score on the flexibility test is 77 and the standard deviation is 10.

A.  Which group of athletes was more flexible?

____________

B.  Which group of athletes had greater variability in their flexibility? _______________

8 [C].  Compared to a random sample of college students at ASU would you expect students enrolled as Music majors to have a lower or higher standard deviation on a test of Musical Aptitude? Why?

________________________________________________________________________________________________________________________________

9 [C].  If your first test score in this course is above the mean, would you like the standard deviation for the test to be small or large? _____ 

Explain your answer. ________________________________________________________________  ________________________________________________________________________________________________________________________________

10.  [C]    In computing the population standard deviation, why do we take the square root of the SS/N?

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________
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